L.O. Finding the original amount given the percentage it has changed by. (Level 7)

OK Level 7 so this is a bit tricky, look back at percentage increase.

So if we are increasing something by 20% we would do this

Original price      x     1.20   =    New Price

So if we only knew the new price we could divide by 1.20 to find the original price

Example; after a 15% increase a jumper costs 41.40 what was the original price?

Original price     x  1.15   =  41.40

So     41.40   ÷   1.15 = £36 the original price!
Questions

If you were increasing a quantity by 10% you could multiply it by what number?

How could you use this number to find the original price?

All these prices have been increased by 10% what was the original price?
£5.50


£3.96


£15


£7.15

All these quantities have been increased by 25% what was the original number?

2875


77.5kg

£1000


187.5

All these numbers have been increased by 32% what was the original number?

79.2


18.48


1254


16.632
